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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 24 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
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(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question numbers 1 — 4 and 13 — 16 are very short-answer questions carrying

1 mark each. They are required to be answered in one sentence each.

Question numbers 5 — 6 and 17 — 18 are short-answer questions carrying 3 marks

each. Answers to them should normally not exceed 60 words each.

Question numbers 7 — 9 and 19 — 21 are also short-answer questions carrying

4 marks each. Answers to them should normally not exceed 70 words each.

Question numbers 10 — 12 and 22 — 24 are long-answer questions carrying 6 marks

each. Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.
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SECTION - A

ITe HHTSHT I3k okl <Iia1 3TR fladera e g ? 1

What does a rightward shift of production possibility curve indicate ?

HiHrd 3care <hl aferm S | 1

Define marginal product.

frafafea & @ %9 € @ Searer 8 gig & e fia fndt 2 7 (T faspew gfw) 1
(a) e A ST

(b) HiHTa mTa

(c) 3iEd Fet AT

(d) 3Ea fer ama

Which of the following cost decreases continuously with increase in production ?
(Choose the correct alternative)

(a) Total Variable Cost

(b) Marginal Cost

(c) Average Total Cost

(d) Average Fixed Cost

T BH W SR # fRamsfiict B et & it i woawg et off A St S aendt

7 | S-S I8 g%g 1 31fres A vk ffved gou W st 7, dwia qenfy () st
3ired FETTe < ot G99 BT 8 : (T8 foehed gHw) 1
(a) 30Ed AT > G AT

(b) 3TEd 3IH = HHid AT

(c) 37Hd WM < Huid A

(d) 3T H Y HIE ot 7=
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A firm is operating in a market where it can sell any quantity of a commodity at a
given price. As more units of the commodity are sold, the relation between marginal
revenue (MR) and average revenue (AR) is : (Choose the correct alternative)

(a) Average Revenue > Marginal Revenue (AR > MR)

(b) Average Revenue = Marginal Revenue (AR = MR)

(c) Average Revenue < Marginal Revenue (AR < MR)

(d) None of the above

HIHTA TR AT <l TRATHT ST | Toh T ICTEWT hl HaTadl 8 36 STTYRUM hi

Ha § sy | 3
SRl

IS T QEERUTTE FaTsT f8 T IeTe HHTEHT 95k STETHG & |

Define marginal opportunity cost. Discuss briefly the concept with the help of a
numerical example.
OR

State any three assumptions on which a production possibility curve is based.

TR A1 8 91 SAA™ § ? ISR A0 § Fhg’ A 1ot i3 &l R oarsy | 3

What is market demand ? State any two factors causing “increase” in market demand.

T X 1 5 Ffcrera i e & 3eeht 9 10 wfwrd st & | g Y 6 20 wfwra Hiwa
TG W IHeh! TAT 10 Tiaerd g2t & | F%g X 3R 9% Y hl hiHd T A 1 THheH
SHIfTT | X 3R Y | § o ©i 3% AT dresiial g 7 4

A 5% fall in the price of Good X, leads to a 10% rise in its quantity demanded.
A 20% rise in price of Good Y, leads to a 10% fall in its quantity demanded.
Calculate the price elasticities of demand of the two goods. Out of the two Goods

which one is more elastic ?
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Why are firms interdependent in taking price and output decisions under Oligopoly ?
Explain.

OR
Why is a firm under perfect competition a price taker and a price maker under

monopoly ? Explain.

9. U IAEH UG o 30 &R T HeH H Haalldl & e T EHH| oAnTd Hidid 3w
(TSt o 9 B | F 7 9 Her gHfvad s gq dieid anTd 3R HiHTd 3T 8§
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A producer is said to be in equilibrium at that level of output at which marginal cost
is equal to marginal revenue. Why ? Is equality between marginal cost and marginal

revenue sufficient to ensure equilibrium ? Explain.

10. TTAREd o I T - 6
(%) oTe T hT 31 N FHieRT
(@) w9 8¢ o1 Y 3 g
(M) fme fow o Y

YN
Ife Th ITWIRHT  HHET T1¢ 1@ THieh 3 :
20X +10Y =500
Freaferfad gt 1 3w/ G
(i)  STe @ <l Yaurar =1 gt ? 1
(i) Ife THE T 500 <t TURT T X W T i AW 1 98 fohaf AT BT 6T
I 7 UMY g2 | 2
(iii) Ife ag Y i had T 50% <ht it A 8 @1 Teh 75 Sote [@1 qHishr i fmio
L YT 7S FoTe [T iR <l yaurar ford | 3
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Answer the following :
(a) Meaning and equation of budget line
(b) Meaning and equation of budget set
(c) Meaning of indifference map.
OR
If a consumer faces the Budget line equation :
20X +10Y =500
answer the following questions :
(i)  What will be the slope of budget line ?
(i) How many units would he be able to buy if the entire sum of I 500 is to be
spent on Good X only ? Show calculations .
(ii1)) Construct a new budget line equation if the price of Good Y falls by 50%. Also,

write the slope of the new budget line equation.

HThITh 3T Crelhifeieh IcATed Bell H T AL & ¢ 3TcUshliclsh 3cdTed %ol <
Tarfir=r =or dimTd IedTe o STMYR W od18Y | [T ohl ST <hIfST |

What is the difference between short run and long run functions ? State the different
phases of the short run production function on the basis of marginal product. Use

diagram.

e gEEH el % fore woa §@ 11 &% ®WH W

For blind candidates in lieu of Q. No. 11 only

Heqeh1feTeh 3R Erelehiieren IcqTeT Bl & o9 91 3T & ? 3TcUshlicteh 3cdTed %eld
Tarfir= =or HiHTd IedTe o STMYR W Fd18Y | dTfeteshT shl SFFT Shifelu |

What is the difference between short run and long run production functions ? State
the different phases of the short run production function on the basis of marginal

product. Use a schedule.
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T Y TETEAr | ST T 312 SISy | $HHT Hqe i T THTE THST | 6

Explain the meaning of excess demand with the help of a diagram. Discuss its effect

on the equilibrium price.

A IE TETTRRI % ToTe T T 12 % WH |

T dlfetsl hl Tl ¥ IRMEM w1 7 AT | 3HRT Hged Higd W 9™

quagRy |
Note : The following question is for the BLIND CANDIDATES only in lieu of
Q. No. 12.

Explain the meaning of excess demand with the help of a schedule. Discuss its effect

on the equilibrium price.

wig -9
SECTION - B
o1 | 1 AR g 2 1
What is meant by money ?
TR i T T <t qieTT €T | 1

Define the revenue receipts of a government.

ot srfereeend . grmgfd g Ed R | (FE foheu giw) 1
(a) FEE TS

(b) aTfuTfSes S

(c) (a) 3R (b)GHl

(d) EhR
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is the main source of money supply in an economy.
(Choose the correct alternative)
(a) Central bank
(b) Commercial banks
(c) Both (a) and (b)

(d) Government

TTfies =1eT HThR g T & IUR o <hi STTE9hal & | (T foehed gio)
(a) &S I

(b) TS o FTATET 3T PIAH

(c) Tt TR P PTaW

(d) B ol yae

Primary deficit is borrowing requirements of government for making

(Choose the correct alternative)

(a) Interest payments

(b)  Other than interest payments

(c) All types of payments
(d) Some specific payments

e Tk FAFFTEN T C =500 + 0.9 Y 3T 1 =3 1,000 HI$

(S&T C = 3uvim =9, Y = TgiE o1, 1= e 2 |

=1 o1 uftepeta hifsre

(i)  HGEH TR T L 3T

(i) T U @1 W

If in an economy C =500 + 0.9 Y and I =% 1,000 crores.

(Where C = Consumption expenditure, Y = National income, [ = Investment)
Calculate the following :

(1) equilibrium level of income

(i1) value of investment multiplier
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J1vTelt | <ht FHen | Faed § o gU i yfirehT TmemsT |
3T
Tt <6t T @ fued § e sravehdrsti’ 6t ftes awemsT |

Explain the role of bank rate in dealing with the problem of deficient demand.
OR
Explain the role of margin requirements in dealing with the problem of excess

demand.

RO ATd gC FHTREd i ToTea =99 3R ISiTa = § afiehd shifg -
(a) AT TEmar

(b) RO <! AT

(c) 3 B W

(d) Yo v

Giving reasons, classify the following as Revenue expenditure and Capital expenditure :
(a) subsidies

(b) repayment of loans

(c) expenditure on collection of taxes

(d) expenditure on building a bridge

THITEY fohe YRR Tehel TRe] IcdTg (GDP) % Hedmol & Fah o &9 H “TR-wifgsh
fafm=” e Hmn g ¢

Explain how “non-monetary exchanges” are a limitation of the Gross Domestic

Product (GDP) as an indicator of welfare.
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e[ ek Rl “Seh] 1 Sk 1Y THSST |

YT

Teh TEATCH IGTELVT h! FETIAT & HET T[UTeh <hi TTshaT THETST |

Explain the “bankers’ bank” function of Central Bank.

Explain the working of money multiplier with help of a numerical example.

(a)
(b)

OR

“reIfcreh Hehol TIe] 3CATG” oh TRCATIYA e |
(%) = fafy 3t (@) 3 fafer g SToR hma W Thel TP ITE T Uiehet
Hifore
(FT %)
(i) | e =t e 100
(i) | st stfam v e 200
(iii) | ferrm 20
(iv) | R 3ifem Iusi = 50
(v) |om9 10
(vi) | =TS 10
(vii) | Ehet TR Yoht Frafor 60
(viii) | et A 10
(ix) | o=t il o1 3THM 20
(x) | Faa s 30
(xi) | focwn & fae R 3= (-) 20
(xii) | %2 H gfEdq 10
(xiii) | fufda 3 110

10
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(1)  Define “Real Gross Domestic Product.”

(i1)) Calculate Gross National Product at market prices by (a) expenditure method

and (b) income method.

(in ¥ crores)

(1) Compensation of employees 100
(ii) | Private final consumption expenditure 200
(i11)) | Rent 20
(iv) | Government final consumption expenditure 50
(v) | Profits 10
(vi) | Interest 10
(vii) | Gross domestic Capital formation 60
(viii) | Net imports 10
(ix) | Consumption of fixed capital 20
(x) | Net Indirect Taxes 30
(xi) | Net factor income from abroad (-) 20
(xii) | Change in stocks 10
(xiii) | Mixed income 110

HRUT ¢ gU §arsC fob Frforfad ahes wielt € =1 wrera

(i) 379d s=Id Y TRNIcHe &1 &l Fehdl |

(i)  EmTd IuHT Igfd 1 Hed U § e B w1 B |
(i) 37T ITHTT TR 1 Yo Teh & 3TFh &1 Hehell 7 |

Giving reason state whether the following statements are true or false :

(i)  Average propensity to save cannot be negative.

(i) Value of marginal propensity to consume can be greater than one.

(iii) Average propensity to consume can be greater than one.

11
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frafafaa & s dfou

(a) I HET % TG R YeIgid o s 3K Farsy |

(b) T T H TR oiFed 3T THRISH 8q e o s 37 Sd18T | 38 37aX 1
I HEwl © 7

YAl

HRUT ¢d U Farsy fob ffeiRaa w1 pram Sqer () =Te] @i 3R defird @ § 3k
(@) ST (credit) 98T IT A (debit) T&T T hH TehR gt foham SR

() TG T AT

(i) foresti & fyaw

Answer the following :

(a) Distinguish between ‘devaluation’ and ‘depreciation’ of domestic currency.

(b) Distinguish between autonomous transactions and accommodating transactions

in the balance of payment. What is the significance of this distinction ?
OR

Giving reason explain how the following will be entered in (a) current account or

capital account and (b) on credit side or debit side of balance of payments :
(1)  Imports of machinery

(1)) Investments from abroad
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